
WINDSCREEN KIT
YAMAHA MT-07 2018

YMT7300-18

X1. PLEXIGLASS
X2. SPECIFIC BRACKETS
X4. SPECIAL BUSHINGS
X4. ALLEN SCREWS M5X12
X4. ALLEN SCREWS M6X30
X4. TEFLON WASHERS Ø5
X4. RUBBER X4. RUBBER WASHERS

KITASSEMBLY INSTRUCTIONS

IMPORTANT: DO NOT TIGHTEN IN EXCESSIVE WAY TO AVOID BREAKAGE OF THE PLEXIGLASS.

M6X30

M5X12

Ø5 TEFLON
WASHER

RUBBER
WASHER

SPECIAL
BUSHINGS


